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From among the four options given. choose the most appropriate sequence of the four phrases

given below. to make a meaningful sentence :

(A) turn to the next page

(B) once vou get to the end

(C) to find the correct anzwers

(D)  of the quiz

Choose the correct answer from the options given below :

(1) (A). (O). (B). (D)

(2) (D). (B). (C). (A)

(3) (B). (D). (A). (C)

(4) (C). (A). (D). (B)
(1)
(2)
3)
(4)

Feafefaa & 9 =7== =i @ 27

P W N =

(1) & 2y «
3 3 4) 4

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25301]
2[Option ID=25302]
3[Option ID=25303]
4[Option ID=25304]

Sl. No.2
QBID:1007352

Choose the correctly spelt word.
(1) Egaliterian (2) Egalitarian
(3) Egalitirian (4) Egaletarian




(1) 1
(2) 2
(3) 3
(4) 4

Fr=fetiaa @ & =9 =1 9s qowa 27
(1) T (2) fFam

(3) TS (4 A

tt

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=25305]
2[Option ID=25306]

3[Option ID=25307]
4[Option ID=25308]

Sl. No.3
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Choose the correct zentence.

(1) Camera 1s piece of equipment used to take photographs.
(2) Camera 18 a piece of equipment used for taking photographs.
(3) Camera 13 a piece of equipment used to taking photographs.
(4) Camera 13 the piece of equipment used on taking photographs.
1)1
(2) 2
(3) 3

(4) 4




THA1-1 % =g geAt-I1 =1 e it

(A)
(B)
(&)
(D)

4 fou U el § © wEl 39 1 999 Fifa0

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

g1
afgadiat
EEEIE]
ARG

(A)-(ID. (B)-(IV). (C)-(IID). (D)-(D)
(A4)-(IV). (B)-(ILL). (C)-(D), (D)-(ID
(A)-(AV). (B)-(I). (C)-(II). (D)-(IIL)
(A)-(IID), (B)~(ID). (C)-(D). (D)-(IV)

1[Option ID=25309]
2[Option ID=25310]
3[Option ID=25311]
4[Option ID=25312]

THI-IT

HHATH =Rl Th
(D st T
I 33
() =&l
(IV) o=9 acqsy

Ee ]

Sl. No.4

QBID:1007354

Match List T with List IT.

(A)
(B)
(C)
(D)

List I
(word)
lively
release
bother

appreclate

List IT

(antonym)
() comfort
(IT) discredit
(ITITy check
(IV) dull

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3

(A)-(IV). (B)-(IID). (C)-(I). (D)-(1IT)
(A)-(IIT), (B)-(IV). (C)-(I). (D)-(1IT)
(A)-(IT). (B)-(IV). (C)-(I). (D)-(IIT)
(A)-(IV). (B)-(IL). (C)-(I). (D)-(IIT)




(4) 4

Fefetaa & o =F a1 9= g 2 7

(1) T S g & forw e ) (2) @ Sy % fow e
(3) @i it foms T s w 2 (4) 1 Tt S e s
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=25313]
2[Option ID=25314]
3[Option ID=25315]
4[Option ID=25316]

Sl. No.5
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From among the four options given., choose the word that 1= opposite In meaning to
‘professional’

(1) Unemploved (2) Student

(3 Amateur (4) Executive

(1) 1

(2) 2

(3) 3

(4) 4

fr=fettaa @ 4 35 a@ ggETH

(1) @9 7% J= M & & S| (2) @9 7% FH FE & S|
(3) 9 T® FHH =L &l S| (4) T9 TE HH =l FE E S|
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25317]
2[Option ID=25318]
3[Option ID=25319]
4[Option ID=25320]

Sl. No.6
QBID:1007356




Identify the correct direct narration for the following sentence.

Moti asked Gangu whether the latter was in his sense.

(1) “Hey Gangu. are you 1n yvour senses now? asked Moti.
(2) “Gangu. have vou lost vour senses?” asked Moti.
(3) “Gangu. are you in vour senses?” asked Moti.
(4) “Are vou senseless. Gangu?” asked Moti.
(1) 1
(2) 2
(3) 3
4) 4
H=IeRae =9 Tgl 1 el % H oIS

(A)  if=A 3R GIEH * 9EER g4 =1ET
(B)  =1=A i THEITH S9H % oY
(C) 31 1 FTH Hid &v
(D)  9r=d T FEE AT F0E
(E) R 37k == amfi 4
= fou T e ® © wF I w1 9 At
(1 (B). (). (E). (D). (A)
@  (@A).®). D). (). E)
(3) (B). (A). (C). (D). (E)
4 (D). (E). (B). (C). (4)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25321]
2[Option ID=25322]
3[Option ID=25323]
4[Option ID=25324]

Sl. No.7
QBID:1007357

Which of the following is a one-word substitute for ‘a government by the wealthy'?

(1) oligarchy (2) anstocracy
(3) plutocracy {4) kelptocracy
(1) 1
(2) 2
3) 3

(4) 4




Ffetag 5 9 510 & oaE Tee 9T

&) T
B)  #AE
(C) =
D) 7w
E® g

4= B o fFweai A 9 g8 39w =99 it
(1) & (A). (B)

2) FaEa (B). (O)

(3) & (A). (O). D)

(4) 4w (O). (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25325]
2[Option ID=25326]

3[Option ID=25327]
4[Option ID=25328]

Sl. No.8
QBID:1007358

Pick out the synonym of the following word.

Optimist
(1) destruetive (2) disappointed
(3 hopeful (4) funny

(1) 1
(2) 2
3) 3
(4) 4




Ffi-1 % = eI =t foerm fifem -

g1 11
(A) e anft w sfasr 7 @ Ttz
(B) d, Hfa=, I99F S@ T () =TT
(C) 5| =i =1 faams = = w (IIT) ar=regig
(D) &l o & 9 (IV) T =i

= fou v el A 9 "6 39w =9 it

(1 (A)-aD). (B)-(@). (C)-(IV), (D)-(III)
2y (A)-D. (B)-(ID. (C)-II). (D)-(IV)
(3)  (A)-(ID, (B)-(IV). (C)-(I). (D)-(II)
4 (A)-IV). (B)-D). (C)-(IID). (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25329]
2[Option ID=25330]

3[Option ID=25331]
4[Option ID=25332]

Sl. No.9
QBID:1007359

Fill up the blank with the correct form of verb :

Neither of the two plans approved.

(1) wers (2) was
(3) were belng (4) had
(1) 1

(2) 2

(3) 3

(4) 4




(A) Y W T TS

(B) =Wl ST 9 gHSH A =
(C)  wfFE=r |7r

D) S ¥ 7 TR F T 58

(E)  Ei-219 ==

H= feu 7o TFedl § ° 9E 39 #1999 Fie

(1)  =hae (A) 3R (C)
(2)  ae (B) #1 (D)
(3)  F&d (C) 3R (E)
4 ¥ (A) AR (B)

(1) 1
(2 2
3) 3
(4) 4
1[Option ID=25333]
2[Option ID=25334]

3[Option ID=25335]
4[Option ID=25336]

Sl. No.10
QBID:1007360

Identify the passive voice for the following sentence.

Do not insult the poor.

(1) The poor are not insulted. (2) The poor should not be insulted.
(3 Let the poor not be insulted . (4) Let the poor be not insulted.

(1) 1

(2) 2

3) 3

(4) 4




R ftemz

F [:  TvEg 7 weg S U5 wm i AEcauul sEAT &, TRl =T ° e 3 a6 ArEE
ara 2|

T [1:  9Tec =l 9191 =i T=a9 311 91U SHs T01 51 S Hharl

IR FYA F AF 4, A 7 T fFwent O O w8 3w w1 =99e Hie

(1) % [&Ak IS |9 7

(2)  wuA I3 I gHT 399 &

(3) W [Heg 2, ot e [ 315 &
(4) W [oE 7, oifed e [ aeg 7

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25337]
2[Option ID=25338]
3[Option ID=25339]
4[Option ID=25340]

Sl. No.11
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Member of Parliament will lose his membership if he is continuously absents from his
sessions for :

(1) 30 days (2) 60 days

(3) 90 days (4) 120 days

(1)
(2)
(3)
(4)

A W N =

OO % T %1 TEE] OO 2w afg 97 w3 o e e T s seetem w20

(1) 307 (2) 60 ==
3) 9o0fE= 4 120f=
(1) 1
(2) 2

3) 3




(4) 4

1[Option ID=25341]
2[Option ID=25342]
3[Option ID=25343]
4[Option ID=25344]

Sl. No.12
QBID:1007362

When value of money exceeds the commodity value of money, it is called

(1) Full bodied Money (2) Credit Money
(3) Fiat Money (4) Fiduciary Money

(1)
(2)
(3)
(4)

A W N =

W 92T 1§09 G50 F 904 g6l § HAh & W06 2, 98 Feell @

(1) o 5 (2) =mE =
(3 ﬂ'fd'lr"'"i"ﬂ_f',.'[ (4) hmrﬁ'[
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25345]
2[Option ID=25346]
3[Option ID=25347]
4[Option ID=25348]

Sl. No.13
QBID:1007363

Which of the following will become the first multilateral agency to open an office in the
Gujarat International Finance Tech City (GIFT)?

(1) Asian Development Bank (2) /orld Bank

(3) New Development Bank (4) International Monetary Fund

(1)
(2)
(3)
(4)

P W N =




A 3TESAE BT 2% T () 0 Feie @ 9l nyg ag9sf vt Fefafes 9 o 569 7497

(3) 74 e = ) FE g
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=25349]
2[Option ID=25350]
3[Option ID=25351]
4[Option ID=25352]

Sl. No.14
QBID:1007364

Name the first Indian firm which has entered the so-called global carbon market through the

farm sector
(1) nurture farm (2} nature farm
(3) unique farm (4) carbon farm

(1)
(2)
(3)
(4)

P W N =

FT & TR q91 Higa ATaF e R T 749 FH T 799 GEAE T # AW s
(1) =T B (2) = HH

(3) = v (4) e HH
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25353]
2[Option ID=25354]

3[Option ID=25355]
4[Option ID=25356]

SI. No.15
QBID:1007365




A retired judge of a High Court is permitted to practice as a lawyer in

(1) Supreme Court of India
(2) Any Court of India
(3) High Courts other than the one from where he retired

(4) (1) and (Z) only

(1) 1
(2) 2
(3) 3
(4) 4

=1 A F WAl A 5 Fal W A F F9 § aeerd B SEtd & S 8 7

(1) 94 ¥ Sar= g=ed 0

(2)  9Ed H e o = |

(3) el ° =% HaiHg g 39 Hiaitw Su A d

(4)  Fad (1) 3R (2)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=25357]
2[Option ID=25358]

3[Option ID=25359]
4[Option ID=25360]

Sl. No.16
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Invarable Concomittance relations are like :

(A) The relation between Tree and Fruit
(B) The relation between Fire and Coolness
(C) The relation between Smoke and Fire
(D) The relation between Earth and Smell

(E) The relation where absence of one 1s the negation of other

Choose the most appropriate answer from the options given below:

(1) {A) and (D) only
(2) {A). (B) and (C) only
(3) (C) and (E) only

(4) (A). (D) and (E) only

~~
W
Nt
P W N =




FATE Hratd] @y e % wEHE R B -
(A)  F™ A A F A= H T

(B) &AM 3T fierar = =g 1 Ty
(C) gy AR s & == #1 'y

(D) Tredt/ et i g = s w5 Ty

(E) 4= orsrg fomd v $it smufeata g = g 2

= fou o faweq @ 9 gog SuF IO 1 95 HiA

(1) &= (A) 3R (D)
(2)  @4Ed (A). (B) 3t (C)
(3)  Ha= (C) 3 (E)
(4)  @ad (A). (D) 3R (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25361]
2[Option ID=25362]

3[Option ID=25363]
4[Option ID=25364]

Sl. No.17
QBID:1007367




Match List T with List IT :

(A)
(B)
(C)

(D)

List I
Philosopher
Truth
Tongue

Man

List IT
(). Rational
(ITy Taste
(IIT) Idea

(IV) Eternal

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(I). (C)-(II). (D)-(I1I)
(2) (A)-(ID). (B)-(I). (C)-(IV), (D)-(I1I)
(3) (A)-(IID), (B)-(IV). (C)-(I0). (D)-(I)
(4) (A)-(I1ID), (B)-(ID. (C)-(D). (D)-(IV)
(1) 1
(2) 2
(3) 3
(4) 4
-1 % =g gei-11 =1 fee it
i1
(A) =EEE
(B) @
(C) Tomr
(D) 9w
H= fer T faFen § o 9 I = 999 Fiteu
(1) (AY-(TV). (B)-(I). (C)-(II). (D)-(I1I1)
(2} (A)-(ID). (B)-(D). (C)-(IV), (D)-(11I)
(3) (A)-(II). (B)-(IV). (C)-(ID). (D)-(I)

(4)

(A)-(ITL), (B)-(II). (C)-(I). (D)-(IV)

THI-11
(I) e
(I) ¥=mg
(I1D) fo=m

(IV) =me=a




(1)
(2)
(3)
(4)

A W N =

1[Option ID=25365]
2[Option ID=25366]
3[Option ID=25367]
4[Option ID=25368]

Sl. No.18
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Put all the statements 1n a specific order. Choose the option which indicates a valid argument
containing logical statement that 1s. where the third statement i1s a conclusion from the
preceding two statements :

(A) All Cats are Pens

(B) All Dogs are Pens

(C) All Dogs are Cats

(D) Some Dogs are Pens

(E) Some Pens are Cats

(F) No Cat 1s Hen

Choose :

(1) (C). (D). (E)
(2) (A). (C). (D)
(3) (B). (E). (F)
(4) (C). (E). (F)

~~
()
Nt
P W N =




9 o o wuA v ffvaw wa A dav) G e A 39 7 1 Swen 9in, wutd S8 dEa
FYA AT YAl of At & et % w9 F e a -

(A) @ fafgai =em 2

(B) @R T ®ed 7

(C) =R F Tfgar 3

D) F= Fd FoW 2

(E) 3 %od f6gt 2

(F) iz fogl 7pfi & 21

I faFey

(1) (C). (D). (E)
(2) (A). (C). (D)
(3) (B). (E). (F)
(4) (C). (E). (F)

(3)
(4)

A W N =

1[Option ID=25369]
2[Option ID=25370]
3[Option ID=25371]
4[Option ID=25372]

Sl. No.19
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Match List I with List IT :

List List IT
(A) Bees () Consciousness
(B) Mind () Poison
(C) Snake (III) Honey
(D) Human (IV) Thought

Choose the correct answer from the options given below :

() (A)-@). B)-III), (C)-ID), (D)-(IV)
(2)  (A)-D). (B)-IV), (O)-(ID). (D)-(D)
(3)  (A)-AV). B)-(ID). (C)-@. (D)-(IIT)
(49 (A)-aD). (B)-IV). (C)-(IID). (D)-(T)

(1) 1
(2) 2
(3) 3
(4) 4
-1 T gA-11 =1 e il
-1 =i-11
(A) TeHtFEE () <
(B) w (I faw
(C) =9 (II) =g
(D) =1 (IV) ==
4= feu v faFeal § 9 o8 I %1 999 e

(1) (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
(2) (A)-(ITII). (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(IV). (B)-(II). (C)-(I). (D)-(IIT)
(4) (A)-(ITI). (B)-(IV), (C)-(I1I). (D)-(I)

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=25373]
2[Option ID=25374]

3[Option ID=25375]
4[Option ID=25376]

Sl. No.20
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Match List T with List IT :

List I List IT
(A) Forest () Bacteria
(B) Milk (IT) Taste
(C) Water (IIT) Trees
(D) Food (IV) Oxygen

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(I). (C)-(IV). (D)-(II)
(2) (A)-(IV). (B)-(IL). (C)-(I1I). (D)-(I)
(3) (A)-(I). (B)-(IID. (C)-(IV). (D)-(ID)
(4) (A)-(II). (B)-(IV). (C)-(I1I). (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4




TAi-1 % =g geft-11 =1 Tee it

71 =i-11
(A) = (I) s
(B) 7a 1) =
(C) == (ITD) 31
(D) HER (IV) AT
49 feu T fawedl § ¥ 98 I #1999 Fifaw
(1) (A)-(IIT). (B)-(D). (C)-(IV). (D)-(IT)
(2) (A)-(TV). (B)y-(I1). (C)-(III). (D)-(I)
(3) (A)-(I), (B)-(III). (C)-(IV), (D)-(IT)
(4) (A)-(ID). (B)y-(IV). (C)-(IID). (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25377]
2[Option ID=25378]
3[Option ID=25379]
4[Option ID=25380]

Sl. No.21
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The polvnomial plx)= ax®+bx®

+x—6. when divided by x+2 and x-2

remainders 0 and 4 respectively, then

1) a=2.b=0 A
8 4

(3) a=0.b=2 (4) a:=i.b=_1
4 3

(1) 1

(2) 2

(3) 3

(4) 4

leaves the




& TEEA plx)=ax® +bx’ +x -6 F x+2 IR x—2 ¥ fFwmlsa o S # 9 3w w0 Ik 4
A 9=

{1} a=2. b:{] 12_] a.:__l_ b:i

g 4

5] -1

(3 =0, b=2 (4 o S

P F M 3
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=25381]
2[Option ID=25382]
3[Option ID=25383]
4[Option ID=25384]

Sl. No.22
QBID:1007372

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Eeaszon R.

Assertion (A) : If the areas of two circles are in the ratios 16: 25 then their circumferences
are in the ratio 4: 5

Reason (R) : If the areas of two circles are in the ratios A : A then their circumferences
. n e
are 1n the ratio A4, : /A, .

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (4)
(2} Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

(1)
(2)
(3)
(4)

A W N =




+i= o wua fgr 7w 3 ;v sAivEYE (Assertion (A) % w9 ¥ fofga & «f T 8% 9 (Reasons (R))

AR (A) A% & F F EFFA H I 16 ¢ 25 2 T I TR F1 I 4 2 5 A
FR (R) : afG 3 I % BAEe F FAIE A, A, B A 36 gify #= weE L[4, A, 2
W F2F F AAF °, A1 50 T T 3 9 g8 39 H 954 Fien

(1) (A 3 (R) 241 93 & 31 (R), (A) #i ud} =me 2

(2) (A 3 (R) oA °aa &, | (R), (A) i =98 =mem 74 2

(3) (AT 2, @A (R) 797 7

(4) (A @ 78 7, | (R) 9 8

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25385]
2[Option ID=25386]

3[Option ID=25387]
4[Option ID=25388]

Sl. No.23
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The diameter of a sphere 1s 6 cm. It 1s melted and drawn into a wire of diameter 4 mm. Then
the length of wire 1s
(1) 54 m (2y 36m
(3) 18 m (4 9m
(1) 1
(2) 2
(3) 3
(4) 4

U el #1 =AM 6 O, 7| S99 Ugens 4 i, =9" ®1 Us an 910 A6l 2] 91 qW skl S 9411 w5 ¢

(1 54 . (2) 36 .
(3 18 =i, (4) 9,

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25389]
2[Option ID=25390]




3[Option ID=25391]
4[Option ID=25392]

Sl. No.24
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If @ and b are the roots of gquadratic equation x* +ax—b=0 and b = 0. then

{1} CI-:—]_. E}:l ‘2.] &:_l.bz—]_
2 2

; . 1

(3 a=-1,b=2 (4) azl'bzﬁ

(1) 1

(2) 2

(3) 3

(4) 4

af; a 3R b fgawda e w ¥ +ax—-b=0F ga 2 @

(1) a=—1.br=l (2) a=l.b=—1
2 2
. 1

(3) a=-1.b=2 (4) a:l.b:E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25393]
2[Option ID=25394]
3[Option ID=25395]
4[Option ID=25396]

Sl. No.25
QBID:1007375

A three digit number 1s chosen at random. the probability that 1ts hundred’s digit. ten's digit
and unit’s digit’s are consecutive integers in descending order. 1s

(1) L_ (2) . 2
45 225
4 1
(3) Eﬁig (4) -?g
(1) 1
(2) 2
(3) 3

(4) 4




T TR T TE Agfeas 9 Sl 2| 5 OST, TATE, THE 6 3 SR SEE %8 9 o F
TR 91 B 7

(1) L_ (2) i_
45 225
4 1
3 — 4) =
=) T = Fis)
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25397]
2[Option ID=25398]
3[Option ID=25399]
4[Option ID=25400]

Sl. No.26
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Which of the following is a top down approach for Nanomaterials's synthesis?

(1) Hydrothermal Method

(2) Mechanical Ball Milling

(3) Chemical Vapour Deposition
(4) Physical Vapour Deposition

(1)
(2)
(3)
(4)

A W N =

=g | O T Gveyn & TS0 HiE a9 Sure 39 (20 59 ) E -

(1)  =zrEsizd= &t (2)  HeFe =T -l
(3) e A feuitaee (4) TErEFe a9t feai=ee
(1) 1

() 2

(3) 3

4) 4

1[Option ID=24401]
2[Option ID=24402]
3[Option ID=24403]
4[Option ID=24404]

Sl. No.27
QBID:1059002




The effective mass of an electron moving in a crystal depends on the

(1) Mass of electron (2) Band gap of the crystal
(3) Conductivity of the crystal (4) Shape of the E-k curve

(1) 1
(2) 2
(3) 3
(4) 4

Tl T2 O =01 %d U Seid2ie wh1 THTEl geuaH HEfeinad O ° e O [ ) 27

(1) =2 % 7o99F W (2) e =+ o FAa=

(3 P Eeic e o e e (4) -%F (E-k) 9% =1 3FR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24405]
2[Option ID=24406]

3[Option ID=24407]
4[Option ID=24408]

Sl. No.28
QBID:1059003

(One nanometer is equal to
(1) 10A (2) 100 gm

(3) 100 pm (4) 10 fm

(1) 1
(2) 2
(3) 3
(4) 4

(1) 10A (2) 100 wm
(3} 100 pm (4) 10fm
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24409]
2[Option ID=24410]
3[Option ID=24411]
4[Option ID=24412]




Sl. No.29
QBID:1059004

Scanning Tunneling Microscope (STM) works on the principle of

(1) Quantum Confinement (2) Quantum Tunneling
(3) Surface Effects (4) Bandgap Tunability

(1) 1
(2) 2
(3) 3
(4) 4

ThiHT At Wk (vE.2.um,) fee fagm w e s 87
(1)  wi-=n afard (2) i=m e
3 TBwwE (4) s R Zpifaferd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24413]
2[Option ID=24414]

3[Option ID=24415]
4[Option ID=24416]

Sl. No.30
QBID:1059005

Ratio of surface area with volume varies as a function of

(1) R 2y 1iR
(3 1/F* 4 1/R°
Where R is the radius of the particle.

1)1

(2) 2

(3) 3
(4) 4

AT = W19 I3 H4 F FI9 FeeAiad § 9 {5 o+ 59 ° Sgar a7

(1) R 2y 1/R
(3) 1/ K 4 1/R°
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=24417]
2[Option ID=24418]
3[Option ID=24419]
4[Option ID=24420]

Sl. No.31
QBID:1059006

Self cleaning action of Nanomaterials is explained on the basis of

(1) High catalytic activity (2) Strong Mechanical properties

(3) Surface Paramagnetic Resonance (4) Lotus — Effect

(1)
(2)
(3)
(4)

A W N =

T=fealEa # 9 e A9R W S EAEe & Oew FeiT 1 auE A S g 2

(1) == 3o & (2) W& AR orad
(3) U IEIEHE AR (4) =g THE

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=24421]
2[Option ID=24422]
3[Option ID=24423]
4[Option ID=24424]

Sl. No.32
QBID:1059007

In Quantum well.

(1) Degree of Freedom = 2. degree of confinement = 1
(2) Degree of Freedom = 3. degree of confinement = 0
(3) Degree of Freedom = 1. degree of confinement = 2
(4) Degree of Freedom = 0. degree of confinement = 3
(1) 1
(2) 2
(3) 3
(4) 4




Hedad | -

(1)  T=a= e = 2, 9fEg #ifz = 1

(2) T W = 3, qHAY FE = 0

(3)  ==E= FE = 1, 9 HE =

[

(4)  =EA FE = 0, TG FE = 3

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24425]
2[Option ID=24426]
3[Option ID=24427]
4[Option ID=24428]

Sl. No.33
QBID:1059008

The effective mass of an electron

(1) Can never be positive (2) Can never be negative

(3) Can be positive or negative (4) Depends on its spin

(1)
(2)
(3)
(4)

A W N =

U SeEZ i THE G

(1) =t ot gerea 48 & T ® (2) =t it sHomew 6 & T B
(3)  9ATeHs T FOIHS B FHA1 2 (4) zoeh fom w ffo = 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=24429]
2[Option ID=24430]
3[Option ID=24431]
4[Option ID=24432]

Sl. No.34
QBID:1059009

Which mathematical method is used in X—Ray crystallography?

(1) Fourier Transformation (2) Partial Differentiation

(3) Geiger Method (4) Permutation




(1) 1
(2) 2
(3) 3
(4) 4

-1 Treamih | fr=fefaa 5 o fam nivede Tty = w@m s g7
(1)  SIfE ZEsmeE (2) ol aFeq
(3) mem &y (4) =HET

1)1
(2) 2
3) 3
(4) 4
1[Option ID=24433]
2[Option ID=24434]

3[Option ID=24435]
4[Option ID=24436]

Sl. No.35
QBID:1059010

In superparamagnetic particles, flipping time of spin orientation from one direction to
opposite direction is of the order of
(1) Microseconds (2) Nanoseconds

(3) Milliseconds (4) Pico seconds

(1) 1
(2) 2
(3) 3
(4) 4

uF Afa-wrgrEhE Fo H, Fe atufam o s o 8 e T A e am ooy fefafaad g
form wm it 20t ?

(1)  ATgREFTs (2) HAREFTS
(3) fuchEers (4) FrpiEeFTs
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24437]
2[Option ID=24438]
3[Option ID=24439]
4[Option ID=24440]

Sl. No.36
QBID:1059011




According to Wiedemann-Franz law, which states that the ratio of electrical and thermal
conductivity should remain constant is

(1) Applicable to all metals at constant temperature
(2) Applicable to all metals at semiconductors at constant temperature
(3) Applicable to all materials at constant temperature
(4) Applicable to all materials at constant temperature and pressure
(1) 1
(2) 2
(3) 3
(4) 4

SISHF-1S 77 = STEN 45q AR S Al 1 FIE Hod O EE =

(1)  Tom am = & g + o o w6 7

(2)  Eom AW W A 9| 3R e W A A A
(3)  Tom am wm wvfi e w = a2

(4)  fom am i gm w ot aee W Sr A 2

(1)
(2)
(3)
(4)

P W N =

1[Option ID=24441]
2[Option ID=24442]
3[Option ID=24443]
4[Option ID=24444]

Sl. No.37
QBID:1059012

According to Dulong and Petit's law. the molar heat capacity of all sohids at all
temperatures is

(1) 3N K,, where N, is Avogadro number and K, 1z Boltzmann constant
(2) 2N K, , where N, 1s Avogadro number and K, 1s Boltzmann constant
(3) N K, , where N, 1z Avogadro number and K, is Boltzmann constant

(4) 1/2N K, , where N, is Avogadro number and K, 1s Boltzmann constant
(1) 1

(2) 2

3) 3

(4) 4




THAIT-U2Z A9 % AN, G 3| 1 0 A S A a1 W AetehEa 5 9 9 w27

(1) 1
(2) 2
3) 3
(4) 4

SN.K,, 9= N, Tarmg e 3R K, Jwea0[ Haar 2|
ON K,, 58 N, warmg gea A K, decaqH fHoams 2

1/2N K, , 5@ N, warmgi g 31t K, SecamH Ao 2

1[Option ID=24445]
2[Option ID=24446]
3[Option ID=24447]
4[Option ID=24448]

Sl. No.38

QBID:1059013

According to Drude Lorentz model for metals

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

the energy of free electrons in a metal is arbitrary
the energy of free electrons in a metal is quantized
the energy of free electrons in a metal is constant

the energy of all electrons in a metal is arbitrary

arg = fou g3 WRed Aise & AEN -

(1)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

et o1g # 9 SerAHT 1 St wrem A 2
el o 9 e B A w2
ot g 5 5 g 1 o oo A 2
frft o # T oA 1 T s A 2

1[Option ID=24449]
2[Option ID=24450]
3[Option ID=24451]
4[Option ID=24452]

Sl. No.39

QBID:1059014




If the potential barrier strength. V,bis large, then

(1) allowed bands become wide

(3) allowed bands are narrow

(1) 1
(2) 2
(3) 3
(4) 4

R fava =R =meA, Vb 94l 2

(1) =@ =S e 2
(3)  o=d I% =0 2
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24453]
2[Option ID=24454]

3[Option ID=24455]
4[Option ID=24456]

(2)
(4)

(2)
(4)

electron becomes free

band gap widens

T Had 7 9 Al

o= g =tz B 2

Sl. No.40
QBID:1059015

The Fermi function f(E) at absolute zero is

(1) lfor E<XE_.and Ofor E>E_ . where E_ 1s the Fermi energy

(2) Ofor E<E_.and1for E>E_ . where E_, 1s the Fermi energy

(3) l1for E2E,_ .and Ofor E <E,,. where E_ 1s the Fermi energy

(4) Ofor EZE,,.and 1for E < E,,. where E,, is the Fermi energy

(1) 1
(2) 2
(3) 3
(4) 4

wit %o f(E) WE 5= W A E -

(1) 1, EXE, ®fuamo, E>E, U == E,, % =41 2|

(2 0, EXE, #fm &R 1, E>E, & fu=w E, ¥ S 2l

(3) 1, E2E,% fu 3t 0, E<E,% fou & E,, % s 2|

4 0, E2E, #fu 3k 1, E<E,, % u =@ E, % i 2|

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=24457]
2[Option ID=24458]
3[Option ID=24459]
4[Option ID=24460]

Sl. No.41
QBID:1059016

An electron occupying the defect state, in the forbidden energy gap, close to the conduction
band is in

(1) Trap state (2) Acceptor state

(3) Fermi level {4) Donor state

(1) 1
(2) 2
3) 3
(4) 4

qfe (5% ) w=ea1 § S92 =H W, Jid Sl 19 8 Feih 9vs & (e T5E Ha= |1 2 2

(1)  2u foiq (2) T (eETe) et
(3)  wHI =W (4) = (s feulE
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24461]
2[Option ID=24462]
3[Option ID=24463]
4[Option ID=24464]

Sl. No.42
QBID:1059017

In the instance of measuring temperature of a body using a thermometer

(1) Thermometer is the system and body is the heat reservior
(2) Thermometer is the heat reservoir and body is the system
(3) Thermometer and body are two isolated systems
(1) Thermometer and body are adiabatic systems

(1) 1

(2) 2

(3) 3

(4) 4




U ATIET 1 TAE FA 50 R S5 F 9 5 i i g

(1) == FEE 2 3R T S 9UenE 7
(2) TR S 9USE 2 AR o FeE 2|
(3)  TEm #R 9 71 fara a2
(4)  aET #R T E=grE W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24465]

2[Option ID=24466]

3[Option ID=24467]
4[Option ID=24468]

Sl. No.43
QBID:1059018

Which of the phenomenon listed helow, proves that light has particle nature?

(1) Polarisation of light (2) Diffraction of light
(3) Photoelectric effect (4) Interference of light

(1)
(2)
(3)
(4)

Frferfiga g=h o @ == i oftge fag = & & v woia wefa @ 87

H W N =

(1) s gam (2) W faaeq
(3)  WEM FE UHE (4) W S

(1)
(2)
(3)
(4)

P W N =

1[Option ID=24469]
2[Option ID=24470]
3[Option ID=24471]
4[Option ID=24472]

Sl. No.44
QBID:1059019




Boron doping in Silicon will lead to the

(1) Formation of p-type semiconductor
(2) Creation of acceptor level in the forbidden energy gap
(3) Increased electrical conductivity
(1) All of the above
1)1
(2) 2
(3) 3
(4) 4

fafernia # =im sifgn Fe=ferfaa < = & s -
(1)  p-u=dl STg=Ters & o | (2) afsfa =i v # wrEYe SEe ® A==
(3) e =rerhar S T 8l (4) ST A

(1)
(2)
(3)
(4)

A W N &=

1[Option ID=24473]
2[Option ID=24474]
3[Option ID=24475]
4[Option ID=24476]

Sl. No.45
QBID:1059020

Brillouin zones are used to

(1) Caleculate the behavior of an electron which may travel in specific direction in
reciprocal space

(2) Study the behavior of phonons in a crystal lattice

(3) Calculate the size of an atom in a crystal lattice

(4) Predict the type of crystal lattice structure

(1) 1
(2) 2
(3) 3
(4) 4

foeran (Brillouin) &= =1 747 261 7

1) ok gﬁq?*ﬁ * RN =l T FH H A F A AT H oo feon 5 w91 2 g9 T”'-'I
(2) Tz o § FEE F SIEER F e §

(3) &= =% H T TH] F HRN =i 70§

(4)  To=e e ST % TR AT




(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24477]
2[Option ID=24478]
3[Option ID=24479]
4[Option ID=24480]

Sl. No.46
QBID:1059021

Which system among the following can not exchange mass as well as energy and there 1s no
contact between system and environment?

(1) An open syvstem (2) A clozed system

(3) An adiabatic system (4) An isolated system

(1)
(2)
(3)
(4)

A W N =

frafafias & 4 =17 @ e 7 9 ZomA = 3R 7 & S9 = G = g & i s fem @i
A=A % 9T HI3 HIH T8 g 87

(1) gen e (2) =7 f=m

(3) wgr= e (4) Fefim fem

(1)
(2)
(3)
(4)

P W N =

1[Option ID=24481]
2[Option ID=24482]
3[Option ID=24483]
4[Option ID=24484]

Sl. No.47
QBID:1059022

How many number of Bravais lattices are there in the monoclinic crystal system?

(1) 3 2) 4
(3) Z 4y 1

(1)
(2)
(3)
(4)

A W N =




g e e i P - 5 i - - i A e N
AHEFAT T2 THCH H, ®1idH TER=2a JgA 30941 T9hdd ThE =l 5 1 = F

(1) 3 (2 4
(3) 2 4 1

1)1
(2) 2
3) 3
4) 4
1[Option ID=24485]
2[Option ID=24486]

3[Option ID=24487]
4[Option ID=24488]

Sl. No.48
QBID:1059023

The de-Broglie waves length of a particle of mass m and kinetic energy E is given by

h h
M ® —
3) i @

f-.‘-u"; mE

1) 1
(2) 2
(3) 3
(4) 4

U 0 ] ZAHH m I G SA g 8 F 36 H0 H S-gwe a0 8w

h h

(1) m (2) m

(3) : 4 3
f:'J'_’: J'HE

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=24489]
2[Option ID=24490]
3[Option ID=24491]
4[Option ID=24492]

Sl. No.49
QBID:1059024




In a trichinic crystal system a cleavage ‘¢’ plane makes Intercepts 2.93, 4.47 and 2.35 mm
along the three crystallographic axes. If the corresponding unit cell vectors are 3.05. 6.99 and
4.90 A then the Miller indices of the cleavage plane are

(1) (345) 2y (134

(3) (013 4 (234

(1) 1

() 2

(3) 3

(4) 4

TF AT e A § UF fTee O HEa dF GRee -EaE (g ) 2 W 2,93, 4.47

3R 2.35 i, W AweT (sEs) FAdl 2 SR sEE @9 9T 3,05, 6.99 3R 4.90 A 2, 4 fagee

(1) (345) (2) (134
(3) (013 40 (234
(1)
(2)
(3)
(4)

A W N =

1[Option ID=24493]
2[Option ID=24494]
3[Option ID=24495]
4[Option ID=24496]

Sl. No.50
QBID:1059025

The longest wavelength that can be analyzed by a rock salt of spacing d - 2.82 A in the first
order is

(1) 8444 (2) 5.64A

(3) 2824 (4) 1414

(1)
(2)
(3)
(4)

H W N =

UF T Ao F1 A0 d =2.82 A ° wyn F2 § g Adan qoresd 1 favemor e a1 o 2

(1) 844A (2) 5.64 A
(3 2.82A (4 141A
(1)
(2)
(3)
(4)

A W N =




1[Option ID=24497]
2[Option ID=24498]
3[Option ID=24499]
4[Option ID=24500]

SI. No.51
QBID:1059026

In 1-D Kronig-Penny model, the total number of possible wave functions are equal to

(1) twice the number of unit cells (2)  half the number of unit cells

(3) number of unit cells (4) independent of the number of unit cells

(1) 1
(2) 2
(3) 3
(4) 4

1-D Fif Ut "ise # 599 707 Heis i Hel 91 SO=t gl
(1) % ga T 5 [ H (2) Uk Ued i W& H A &
(3) U Hel = H (4) U= OA I e ¥ =ET g g

1)1
(2) 2
3) 3
(4) 4
1[Option ID=24501]
2[Option ID=24502]

3[Option ID=24503]
4[Option ID=24504]

Sl. No.52
QBID:1059027

Effective mass of electron in erystal is

(1) Directly proportional to "‘I (2) Equal to rf"{-_‘
dk = dk L]
(3) Inversely proportional to d_f {(4) None of the above
ak ~
(1) 1
(2) 2
(3) 3

(4) 4




forea ° e 1 e T=EE B -

1) L F st g 2 @ LE Fawmam e

ok = dk ©

@ 1L ¥ et d i (1) T § = T

1[Option ID=24505]
2[Option ID=24506]
3[Option ID=24507]
4[Option ID=24508]

Sl. No.53
QBID:1059028

Most ductile material is

(1) Aluminum (Al) (2) Silver (Ag)
(3) Tin (Sn) (4) Lead (Ph)

(1)
(2)
(3)
(4)

A W N =

FaH a4 99 2 -
(1) uEE= () (2) Tt (ag)
3 & (sn) ity Bgume

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24509]
2[Option ID=24510]

3[Option ID=24511]
4[Option ID=24512]

Sl. No.54
QBID:1059029




The main difference between classical theory of heat capacity and Finstein's theory is that
(1) Atoms were regarded as simple harmonic oscillators in classical theory and quantum
mechanical oscillators in Einstein's theory

(2) The Frequency of vibration of oscillators was arbitrary in classical theory and
quantized in Einstein's theory

(3) The classical oscillators obeyved Maxwell Boltzmann statistics and gquantum
mechanical oscillators obeyed bose Einstein statistics

(4) All of the above

(1) 1
(2) 2
(3) 3
(4) 4

femafafin s=ia amm fagm s s S g s ra e dm e & -

(1) o fofaled fagia & @ smadl i v sneedi & fagm § wen @itfe dfvw & =
keI

2 Tofafim fagm & 2ifem % s 6 sl == 70 s & faga § @i o

(3) Torfafea oo Seaeaa diegand ST * STIER G=1ia ot i Fieq FiEs aiferd a AEeH

HifEa=ht & AR "=t o
(4) 3T |t
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24513]
2[Option ID=24514]
3[Option ID=24515]
4[Option ID=24516]

Sl. No.55
QBID:1059030

What will be the number of atoms per mm? surface area of plane (100) for lead which has fee
structure? Give the radius of lead atoms is 1,74 A?
(1) 6.0x10" (Z) &8&6=x10°

(3 8.2=x10" (4) 6.02 <107

(1)
(2)
(3)
(4)

A W N =




oz e fom, o= (100) F qgem =+ wiq fodt® gy fi e fFwat =eft, Sed os = & (FCe)

T 27 R eig T i G 1,74 A 2

(1) 6.0x10% (2) 8.5x10"
(3) 8.2x10" (4) 6.02x10"

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24517]
2[Option ID=24518]

3[Option ID=24519]
4[Option ID=24520]

Sl. No.56
QBID:1059031

Hot working takes place at a temperature above a metal's

(1) melting temperature {2) recrystallization temperature

(3) eutectoid temperature (4) glass transition temperature

(1)
(2)
(3)
(4)

A W N =

qTq 1 A9 FHO AT 8, 97+

(1)  7IeF AHH & W (2) TA: HFeeed aTE % W
(3) TRl @9 AT9HH % H (4) T GFHAY AYHH F FH

(1)
(2)
(3)
(4)

A W N =

1[Option ID=24521]
2[Option ID=24522]
3[Option ID=24523]
4[Option ID=24524]

Sl. No.57
QBID:1059032

In hydrogen atom, the accidental or coulomb degeneracy for the n = 2 state is

1 2 (2 6
(3) 8 (4) 4
(1) 1

(2) 2




(3) 3
(4) 4

TF FISSI WA H o = 2 3TEET F 60 A a1 Fam s g
(1 2 (2) 6
(3) 8 (4) 4

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24525]
2[Option ID=24526]

3[Option ID=24527]
4[Option ID=24528]

Sl. No.58
QBID:1059033

Which of the following electronic configurations 1= for an nert gas whichis used for
surface area analvsis?

1) 1s22s%2p%3s%3p° 2) 1s225%2p%3s?
(3) 1322322p63333p6451 (4) 1322322;}63523;-6459

(1) 1
(2) 2
(3) 3
(4) 4
Hfera e &1 T T &ha FeeH & 0 7 81 g B Prefafaa 8 9 9w s st
w# 2l

I:l] ].422522_:1‘;:‘-5:-'1;)5 I:E:I 1523&23;2”11-452
(3) |nzzfzp"’:m::m“-u’ (4) ]52352Zpﬁ.'i.uz.'ipﬁ-]eii

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=24529]
2[Option ID=24530]

3[Option ID=24531]
4[Option ID=24532]

Sl. No.59
QBID:1059034

Combination of Zine, and Copper may be known as

(1) Muntz Metal (2) Gun metal
(3) Brass {4) Bronze




(1) 1
(2) 2
(3) 3
(4) 4

3= &It F19 % 99 =1 g 90 8 -

(1)  H=a gig (W) (2) ™ Hew
(3) ae () (4) = (F9)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24533]
2[Option ID=24534]

3[Option ID=24535]
4[Option ID=24536]

Sl. No.60
QBID:1059035

(Gibbs Phase Rule may be expressed by
(1) C+Ps+1=F 2) c+P-1=F

(3) C-P4i2=F 4d) cePi2=F

(1)
(2)
(3)
(4)

P W N =

firem et fam weiiia = & -

(1) C+P4+1=F 2) c+P-1=F

(3) C-P+2=F (4) C+Ps+2=F

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24537]
2[Option ID=24538]

3[Option ID=24539]
4[Option ID=24540]

Sl. No.61
QBID:1059036




Diamond structure has fee structure with unit cell edge & - 5.42 . The closest interatomic
separation is

(1) 0.122 nm (2) 0383nm

(3) 0.234 nm (4) 0.542 nm

(1)
(2)
(3)
(4)

A W N =

THTS HIEAT UHF 56 $ o - 5.42 & T19 Beish B4 ST 8§ Fehem satam 2§ -

(1) 0.122 nm (2) 0.383 nm
(3) 0.234 nm (4) 0542 nm

(1)
(2)
(3)
(4)

P W N =

1[Option ID=24541]
2[Option ID=24542]
3[Option ID=24543]
4[Option ID=24544]

Sl. No.62
QBID:1059037

You read a newspaper due to light, it reflects. Then why do you not see even a faint image of
yourself in the newspaper?

(1) Due to light scattered by the newspaper into eves
(2) Due to Rough surface of Newspaper
(3) For reason (1) and (2)
(1) None of these
1)1
(2) 2
(3) 3
4) 4

YIS AT B % RO 7 UF TEEE T 9ed g 79 AT A9 w5 H gen o #4996 5w a7

(1) ©HMER 99 R A0El § 9 & faEE & wno)
(2)  THMER 99 % B4 Tag & HA0|
(3) I BHT & HA|
(4)  Trafim wEda & s
(1) 1

(2) 2
(3) 3




(4) 4

1[Option ID=24545]
2[Option ID=24546]
3[Option ID=24547]
4[Option ID=24548]

Sl. No.63
QBID:1059038

The volumes of hep unit cell 1s

a‘c ot T P

1 V==

(3) V=

a‘e 4 V=

(1) 1
(2) 2
(3) 3
(4) 4

U= i 97 (hep) THF HA F AT 7

a‘c 2y T ey

A Va=-
ENE 2
= =
(3) V= 3;3 a’c 4 V= P ac
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24549]
2[Option ID=24550]
3[Option ID=24551]
4[Option ID=24552]

Sl. No.64
QBID:1059039

For an intrinsic semiconductor with band gap E_ =0.7eV, obtain the value of Fermi-energy
level {EI]I at 27°C if m, =6m,

(1} 0.658 eV (2) 0.385eV
(3) 0.620 eV (4) 1.20eV
(1) 1
(2) 2
(3) 3

(4) 4




E, =0.7eV dg #70e a1t Ug AgaF & 90, A5 m; = 6m.  27°C W wH-F=1 =T (E,) F1 7H

(1) 0.658 eV (2) 0.385eV
(3) 0.620 eV (4) 1.20eV

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24553]
2[Option ID=24554]

3[Option ID=24555]
4[Option ID=24556]

Sl. No.65
QBID:1059040

In materials characterization, electron microscopy techniques use which property of electron

(1) Negative charge (2) Spin nature

(3) Wave nature {(4) None

(1) 1
(2) 2
(3) 3
(4) 4

STl o faver 8, sewziA GEaSEl awAl 8 SeidgE R 8 T 1 ST Bl A7

(1)  EvIens = (2) o wFfq
(3) 0 WG 4) 5 T
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24557]
2[Option ID=24558]
3[Option ID=24559]
4[Option ID=24560]

Sl. No.66
QBID:1059041




Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) :  Sommerfeld's quantum theory led to lower value of electronic specific heat
of metals.

Reason (R) : The number of electrons contributing to specific heat were restricted.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) is correct but (R) is not correct

(A) 1s not correct but (R) 1s correct

4= 31w fau MU 2 : 0% SPEYA (Assertion (A) % 9 H fofad 8 @ 280 35% F0 (Reason (R))
FETH :

Al (A) HHThes 1 Fi-H g 9Iqsii & Soiagi-sh S S & 55 71 1 gaian 2
F0 (R) : fafie = 4 9Em FE T el B gE S Hivg w0 EE

I FYA F A 7, A9 B et 6 | gen 3w I w0 99 i

(1)  (A) 3T (R) A1 =1t € 3t (R), (A) Fi ot == &
(2)  (A) 3R (R) 5FT T £, =T (R), (A) Ft T6 =men 768 &
(3) (AT E, =@ (R) d T 8
(4) (A= T 7, 9 (R) 51t 2
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24561]
2[Option ID=24562]
3[Option ID=24563]
4[Option ID=24564]
Sl. No.67

QBID:1059042




(Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) ; In Drude Lorentz free electron theory, the electrons behave like a perfect
gas.

Reason (R) : The electrons move in a particular direction and constitute current even
without electric field.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) 15 correct but (R) 15 not correct

(A) 15 not correct but (R) is correct

= @ w9 fog 0§ : wE wfiEed (A) (Assertion (A)) % ®9 # fafigd @ 9 g0 39+ w9 (R)
(Reason (R)) % ®9 ¥ ;

A (A): ST 3B Serag g § Soiag O STEE 18 W e SR F 2
F (R) : FoIF T TafTea T 8 s & o o foedt o & < g ==t 21

ITE F99 A H, 9 By 7 fawed § ¥ g9 I9gE 3T 1 99 Fie

(1)
(2)
(3)
(4)

A W N =

1[Option
2[Option
3[Option
4[Option

(A) 3T (R) 541 @&t € oii (R), (A) i wél =me 2

(A) 3R (R) 71 &8 £, | (R), (A) Fi a1 =men 76 &
(A) w#l 7, 6 (R) &1 74 2

(A) wé 7 2, 9fF (R) & 2

ID=24565]
ID=24566]
ID=24567]
ID=24568]

Sl. No.68

QBID:1059043




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Metals exhibit lustre.

Reason (R) : Individual atoms emit light which appears as lustre.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1)
(2)
(3)
(4)

A W N =

= g Fo@ fow U B ;. uE sfiEed (A) (Assertion (A) % w9 H fafigd @ @ gm0 39 w9 (R)
(Reason (R)) % ®9 # :

ke (A) - aqe gl wefia w81

F0 (R) : YT AT SR Ieated il 8 9 g % §9 °§ 9he 2 gl

IFE FIE F A 4, S 20 v fGwed § @ g8 3w % 991 fifan

(1) (A) 3R (R) 3 & & 3 (R), (A) i &t = &

(2)  (A) SR (R) 3F1 @ &, @6 (R), (A) F adt =awen 74 2
(3)  (A) == 2, o (R) s 2

(1)  (A) e 2, w6 (R) 7 2

~~
W
Nt
A W N =

(4)

1[Option ID=24569]
2[Option ID=24570]
3[Option ID=24571]
4[Option ID=24572]

Sl. No.69
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reaszon R.

Assertion (A):  The temperature of substance remains constant during its change of state
{(Phase change).
Reason (R) : The supplied energy is used for changing the phase of material.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

() {(A) 1s not correct but (R) is correct

(1)
(2)
(3)
(4)

A= 3 #wA fu M § . ww sAfied (A) (Assertion (A) % ¥4 ¥ fafw 2 @t gm0 3w w01 (R)
(Reason (R)) * &9 # :

A W N =

FHERTA (A) | g1 &1 919 THE G IiEdd & e T T w2
% (R) - =1 o1 2 A1 8, 98 36 H=E9] IiEad 4 =49 7 JE 2l

IR FUA & AT 4, A9 7 e e § | qe 3w I 99 fife

(1) (A) it (R) 31 &1 € 3 (R), (A) i 5 = 2

(2)  (A) 3R (R) 21 @4 &, =t (R), (A) it 561 =men 76 2
(3) (A FE g, 9fF (R) & 76 &

(4) (AT T &, A (R) T 7

(1)
(2)
(3)
(4)

A W N =

1[Option ID=24573]
2[Option ID=24574]
3[Option ID=24575]
4[Option ID=24576]

Sl. No.70
QBID:1059045




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) :  The ionic crystals are known for point defects of the type Frenkel and

Schottky defects.

Reason (R) : Frenkel type of point defects a vacancy is created at the lattice point and an

ion occupies the interstitial site and Schottky defects a pair of cation and
anion are found to be missing giving rise to a pair of vacancies,

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 15 true but (R) 1s false

(A) 15 false but (R) is true

9= @ FE U oW E  uE AtgEeA (A) (Assertion (A)) F ¥9 § TAREd 2 A1 550 IWF w0 (R)
(Reason (R)) & ®0 1 :

HTHT (A) AT el el A Izl g2 F Tere wH W 2

F0 (R) : FE T 3 F TR UF T T W W AT 2 AN U S S e W

A 2 FN wmel I, T g SR EeR 918 e 99 AW 2 A 0h A1 A
To=Fal =1 ==1 %A1 7

ST FA F A °, G 5 T e | 8w ST 39 F = R

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A) 3R (R) 291 74 # 3 (R), (A) 1 T =men 2

(A) TF 2, A (R) I91 781 7
(A) T#l 5 2, #it# (R) =21 2

1[Option ID=24577]
2[Option ID=24578]
3[Option ID=24579]
4[Option ID=24580]

Sl. No.71




QBID:1059046

(Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Amorphous solids are isotropic.
Reason (R) : Physical properties of amorphous materials depends on the direction in the
materials

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1)
(2)
(3)
(4)

A W N =

= 71w fow T R uw SWEeE (A) (Assertion (A)) F w9 ¥ fafma # a1 gm0 30 FA0 (R)
(Reason (R)) % =9 4 :

AfTFeE (A) I 39 TEEEE B A

F7 (R) : st (wfEe) ae #1 Hifew 1 o 4 e w A e

IWIT FUA F AAE H, 4= 70 T fawent 7 @ weE g I 6 9 i

1) Q) 3R R) = T 2 A (R), (A) F T = 2
(2) (&) FR(®) A FE E, G (R), (A) FTE =wen Tw5° A
@ (A= I, S (R) T 2
(1) 1
(2) 2

3) 3

(4) 4

1[Option ID=24581]
2[Option ID=24582]
3[Option ID=24583]
4[Option ID=24584]

Sl. No.72
QBID:1059047




Given below are two statements : One 1= labelled as Assertion A and the other 1z labelled as
Eeazon R.

Assertion (A) : Quantum Mechanics 1z an approximation of Classical Mechanics.

Reason (R) : Future position of a particle i1s completely determined by position and
momentum together in Newtonian mechanics whereas quantum mechanics
glve particle’'s probable position.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
{(2) Both (4) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 12 correct but (R) 1s not correct
(4) (A) 18 not correct but (R) 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
= 2 % Tou o R v auEeE (A) (Assertion (A)) % = H {aiEa 2 @ R 0% FE0 (R)
(Reason (R)) # 9 1 :

ATFIT (A) : 2T T ferfatey (Fafasa) TiEH + aase 2

F07 (R) TF FU H Gl i I O ° eiEe AR | IEs [Tl i gen o |
et =1 S 2 S8 FEieE AR 0 ) i S Ewa F S e 2

S FUA F AE °, S 50 T el § ° geE S0 3O % 5ae i

(1) (A) 31 (R) =1 =1 2 A (R), (A) =il =21 = 2
@) (A) 3R (R) 56 T4 F, A (R), (A) F 78 =wen T8 2
(4) (A) Td 7 2, wfF (R) o 2

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24585]
2[Option ID=24586]
3[Option ID=24587]
4[Option ID=24588]

Sl. No.73
QBID:1059048




For X-Ray Diffraction from a crystal with a Face-Centred Cubic Lattice, arrange the lattice
planes in increasing order for the diffraction peaks

(A) (111
(B)  (220)
(C)  (200)
D (222)
(E)  (400)

Choose the correct answer from the options given below:

(1) (&), (D), (B), (C), (E)
(2)  (O), (D), (B), (A), (E)
(3) (0. (B), (D), (E). (A)
(4) (A, (C), (B), (D), (E)

(1) 1
(2) 2
(3) 3
(4) 4

U FelF higd G4 Aot e ¥ tag-1 fada % fou, frafefan 0 fads e (d) * oo wes
A % Wgd @A ° ol -

(a) (111
(B)  (220)
(C)  (200)
D (222)
(E)  (400)

Fi= fou mu faweat § 9 w8t 39 %1 99q $ifu .
(1) (A), (D), (B), (C), (E)
(2) (C), (D), (B). (A), (E)
(3) (C), (B), (D), (E), (A)
(4) (A), (C), (B), (D), (E)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=24589]
2[Option ID=24590]
3[Option ID=24591]
4[Option ID=24592]

Sl. No.74
QBID:1059049




Arrange the following in the increasing order of elasticity :

(A) Diamond

(B) Steel
(C) Polystyrene
(D) Bone
(E) (Glass

Choose the correct answer from the options given below:

(1) (W=<@d=<(E=<D)=<(@)
2 W=<@d=<(C)=<D)=<(E)
3) (A <(C)<(D)=<(B)<(E)
4 (O)<(D)<(E)<(B)<(A)

(1) 1
(2) 2
(3) 3
(4) 4

T F W5d 50 F0 0 HEEnEd B FEg -

{.:"'.‘J EEHHTE
B) ==

- o [

(C) AR

D) =M=
(w) =™
49 fou o fawed § 1 wE I F 99 i

(1) (A= (B)=(E)=(D)=(C)
(2) (A =B =(C)=(D)=(E)
(3) (A) < (C) = (D)< (B) < (E)
(4) (C)< (D) <(E)<(B)<(A)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24593]
2[Option ID=24594]

3[Option ID=24595]
4[Option ID=24596]

Sl. No.75
QBID:1059050




Arrange the following materials in terms of their energy band gap.

(A) Ge
(B) Si

(C) GaN
(D) GaAs
(E) AIN

Choose the correct answer from the options given below :

(1) (A<D <(C)=<(B)<(E)
2 B<E)<A<C)<D
3) (A <B)<(D)=<(C)=<(E)
4) @M< B)<E)=<(C)=<@A)

(1) 1
(2) 2
(3) 3
(4) 4

Pt 1 3% S 33 sl 3 ST g = -

(A) Ge
(B) Si
(C)y GaN
(D) Gahs
(E)y AIN

= fev o fawmeal § | |81 39 = 994 Fifdw .
(1) (A) = (D)< (C) =(B) < (E)
(2) (B) <= (E) < (A) < (C) =< (D)
(3) (A)=<(B)y=(D)=(C)=<(E)
(4) (D) < (B) < (E) < (C) < (A)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24597]
2[Option ID=24598]
3[Option ID=24599]
4[Option ID=24600]

Sl. No.76
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Statement ‘There is a plenty of room at the bottom’ is mentioned by

(1) Albert Einstein (2) Richard Feynmann
(3) Issac Newton (4) Max Planck

(1) 1
(2) 2
(3) 3
(4) 4

“There is a plenty of room at the bottom’ 3T Hu e 87

(1) %2 meedA (2 f= Him
(3) HAFAH LA (4) T wH

(1)
(2)
(3)
(4)

A W N =

1[Option ID=24601]
2[Option ID=24602]
3[Option ID=24603]
4[Option ID=24604]

Sl. No.77
QBID:1059052

If the ground state energy of an electron confined in one dimensional box is represented by
E,, what will be the difference between second exicted state and the ground state energies?

(1) E, (2 2g,

(3) 8E, (4 4E,

(1) 1
(2) 2
(3) 3
(4) 4

afg Tt ufieg oA *1 =Ha9 So T Tk FEE 9 § g g Weqa T @ g, | e s
ST AT FATH FA ATEITAT F T I FT B 7
(1) E (2 2k,

(3) B8k, (49 4k,

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24605]




2[Option ID=24606]
3[Option ID=24607]
4[Option ID=24608]

Sl. No.78
QBID:1059053

Arrange the following on the basis of magnetic susceptibility (lower to highter)

(A) Ferromagnetic
(B) Paramagnetic
() Diamagnetic

(D) Antiferromagnetic

Choose the correct answer from the options given below:

(1) A=<D=B)=<(C)
2 (©O<D=B)<(A)
(3) (W<B)<D)=<(C)
4) (O <(B)<(D)=<(A)

(1)
(2)
(3)
(4)

P W N =

o g e g i A i
(A) e gEhE

(B)  FAETEE

(C) piteCEae
{D] \:\"'l"_
4 12U U faedl 3 9 9 39 1 999 Hie

(1) (A) = (D) =(B) =(C)
(2) (C)=(D)<(B)<(A)
(3) (A) = (B) = (D) =(C)
(4) (C) = (B) = (D)= (A)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24609]

2[Option ID=24610]

3[Option ID=24611]
4[Option ID=24612]

Sl. No.79
QBID:1059054




Arrange the following on the basis number of effective atoms per unit cell (lower to highter) :

(A) Diamond cube

(B) Hexagonal closed packed
(C) Simple cubic

(D) Body centred cubic

(E) Face centred cubic

Choose the correct answer from the options given below :

(1) (A)<(B)<(C) = (D) <(E)
(2) (C)<(D) =(E) < (B)<(A)
(3) (A) = (B) < (E) = (D) < (C)
(4) (C) < (D) < (E) < (A) <(B)
(1) 1
(2) 2
(3) 3
(4) 4

Frferfiaa =1 vt Tmet £ e e S90S 99 % AT AnE w6 § wEEg i

(A) EMHTE Y4

(B)  wZeIT HEfer

(C) «W= A

(D)  #i7:=higd =9

(2)  wereh higd B

Jr= feu o fomedi | @ |81 39 =1 =94 SifAu

(1) AW<B<(C)<D)<(E
2 ©O<D<E<B=<®
(3 @W=<E<E<D)<(@©)
4 ©O=<D)=<E<A)=<®B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24613]
2[Option ID=24614]

3[Option ID=24615]
4[Option ID=24616]

Sl. No.80
QBID:1059055




Given below are two statements :

Statement [ :  Almost any defect meets the test where isotopic inhomogeneity can alter

both photon spectrum and character of neutron scattering.

Statement 11 :  Almost any defect meets the test where isotopic inhomogeneity alters

only character of neutron scattering.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N &=

Both Statement I and Statement 11 are correct
Both Statement I and Statement I1 are incorrect
Statement I is correct but Statement I is incorrect

Statement I is incorrect but Statement I is correct

Hi= g e feu T E

Fod 1: st 3 whaw § guafien smmma wiel wage di =ggia R i age a8l
w11 faerem: 3 vl § o s Faa =[gia TR & T F S5ed 21

ITME FeF & A 4, - Bu 0 Twed % @ gus 39w 3w w1 9w i

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Fe 1 37 11 ZA1 78 &
oA 1 3 11 51 7Tefd &
w9 1 9t &, wfeha e 11 e &
w9 1 T4 7, S %9 1104t &

1[Option ID=24617]
2[Option ID=24618]
3[Option ID=24619]
4[Option ID=24620]

Sl. No.81

QBID:1059056




Given below are two statements :

Statement [ :  For most materials, an electric current results from the motion of free

electrons, which are accelerated in response to an applied electric field.

Statement 11 : The number of free electrons does not depend on the electron energy

band structure of the conductive materials.

In the light of the above statements, choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

Both Statement I and Statement IT are true
Both Statement I and Statement II are false
Statement I 15 true but Statement I1 1s false
Statement I is false but Statement II is true

1

2

3

4

= 21 wum feu T

w1 : g g w4, g% soiagEl S Ta o faga uw 3o 't 8, O fmge a3 @ =
Tfm 21§ seiagi @ e faega & i s | wfe e

F9 11 :  Heh Soiagl Sl ST FeT TErdl i goiage Sl 9% Gl W AHT TE e 2
I HEA & SATeln |, 4 B v feeedi ® @ g€ 3w @ = it

(1) F99 [ #1111 gF1 53 2
(2) Fge [ 3 11 g1 =39 &
(3)  &ua [4rg B, oifthd +5H [[ 3@ B

(4) FY | A B, ok e [[He3 &

A W N =

1[Option ID=24621]
2[Option ID=24622]
3[Option ID=24623]
4[Option ID=24624]

Sl. No.82
QBID:1059057




Which of the following statment is correct in case of NaCl erystal structure?

Statement [ : It is a face-centered cubic lattice with one atom hasis.

Statement I1 : It is a simple cubic lattice with two atom basis.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(1) Statement I is incorrect but Statement I is correct
1) 1
(2) 2
(3) 3
(4) 4

Nat TFRE TET A feefaa i e s m s am ? ?

FA1:  TF THW] ATMA TE UF B Hgd O AEE £
Fod [ 3 T S 98 UF /e O e

3T FIA F A 4, A= By e e § 8 gan 3w I w1 99 fifb

(1) &= 1 0 11 541 e #
(2)  ®ua 1R 11 5H Tea &
(3) w1 T8 2, S Fem [ 7em 2
(4) oA I 7em B, e w0 1o 8

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24625]
2[Option ID=24626]
3[Option ID=24627]
4[Option ID=24628]
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Which of the following statment is correct?

Statement [ :  Effective mass of the electron (m*) is the mass of the electron when it is
moving through the periodic potential lattice.

Statement 11 :  Energy band gap of semiconductor is the energy difference between the
maximum energy of the conduction band and the minimum energy of
the valance band.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I1 are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
i(4) Statement [ is incorrect but Statement I is correct
(1) 1
(2) 2
3) 3
(4) 4

F A FYF GG B 7

F1: U 3o % Y9E gEE (m*) SeiEgH H1 ZeaHH Bl 2 W 98 ] [GWa Ao ®
HegH | T & @ B

FH [ HZAEF & FA-3-5-10 96F 48 & I=908 S 3 G99Hal &8 & Fan s & 3w
& =l 7t 21

IR FUA F A 4, 419 0 e § § g9 37w I 1 999 A

(1) &= [ 3 11 241 =81 &
(2) @ 13 11 A1 7o &
(3)  F4F 1 TE 7, ©ifeh &ed 1 7o &
(4)  ==a [7em &, 9 Fem 11 a9 2

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24629]
2[Option ID=24630]
3[Option ID=24631]
4[Option ID=24632]
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(Given below are two statements :

Statement 1 :  Gold can change colour depending on the size of gold particles.

Statement 11 :  Depending on the size of the nanoparticle, the electron cloud will be in
resonance with a particular wavelength of light.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3
(4) 4
A 51 e feg o -

FIT1: TS FU % AR & AW T e T 950 Tl £

FoT [1: el & AN % 9N W JoF2 FoSE TR % TF GEE e & 'Y SAE 8
B

3T F9 & A |, 9 Bu e § ¥ gu 39w 3w 99 Fi

(1) == 1 37 11 541 54 &
(2) @ 1 38R 11 41 7o &
(3) A 1o 2, = Fem 11 e 2
(4) e 1 7o §, et wee 11 E8 8

1)1
(2) 2
3) 3
4) 4
1[Option ID=24633]
2[Option ID=24634]

3[Option ID=24635]
4[Option ID=24636]
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Given below are two statements :

Statement [ :  Tunneling conduction involves charge transport through an insulating

medium separating two conductors that are closely placed.

Statement 11 :  Transmission Electron Microscope is based on Tuneling Conduction.

In the light of the above statements, choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both Statement I and Statement I1 are true
Both Statement I and Statement I are false
Statement I 15 true but Statement I1 15 false

Statement I is false but Statement II is true

= g =y fer o B -

FA1: UM FICF UF FACE A1 F GRI SE FERa A § affaa @ 2 9 d w6 @ e

STeTehl FI AT FAT 2

F9 11 HT Serag GERaEl UM e W ST 21

I HYA Ao 5, 49 72U T et § @ 9E 3w = =59 il

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N &=

Fu [ &1 11 51 §c4 8
FeA 1 3 11 21 39 8
FUA 1 977 8, o Fe [1 39 8
F | 578 2, T Fo9 1153 &

1[Option ID=24637]
2[Option ID=24638]
3[Option ID=24639]
4[Option ID=24640]
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Given below are two statements :

Statement I :  The momentum of electron in one dimensional periodic potential can be
given by +/2mE . where ‘'m’ iz the mass of electron and E 1s the

energy of electron

Statement II :  The velocity of free electrons 1s given by p/m. where 'p’1s the momentum
and ‘'m’1s the mass

In the lhight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
(1) 1

(2) 2

(3) 3

(4) 4

4= 71 FoE o e E

- - . N i~ --. 5y & . ™ - ol
FHAL:  TEdeE W AT UF oA A G99 2mE EA R, 9@l m’ ToEgA F ZAAE ' T
E ===z &1 =41 2|

FE I : Fi == F2H F Eul p/m =1 2 78 p oa 2 3 ‘'m’ TeaEE|

SHIT FUA F A H, A4 50 T T § U o e 39 H =9 R

(1) = I &0 I1 5F =3 2
(2) w1 ¥R I Al o 2
(3) A I&A 2, A e I 7ed 2
(4) = e 2, =i Fee [Lee 7

(1)
(2)
(3)
(4)

A W N &=

1[Option ID=24641]
2[Option ID=24642]
3[Option ID=24643]
4[Option ID=24644]
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Choose the most appropriate answer from the options given below:

(A) Packing fraction of bee structured crystal is equal to 75.06%
(B) Packing fraction of fec structured crystal is equal to 74.05%
(C) Packing fraction of scc structured crystal is equal to 76.3%

(D) Packing fraction of hep structured erystal is equal to 58.05%

Choose the most appropriate answer from the options given below:

(1) (C) only
2)  (D)only
(3) (A) only
(4)  (B)only
1)1
(2) 2
(3) 3
(4) 4

Hr= fou o ot # & HEE I9gE I 1 999 Hia

(A)  AhiZa 99 A Gea 1 H%ad FTE 75.06% % S0 w1 2

(B) e Hfza 99 = a1 gFed S 74.05% % S0 g
(C) =% Hfga 99 T e &1 9%er S99 76.3% o sH0e 2l &1
(D) W GEFHC =1 hted ®1 GFeH TE 58.05% % FE g6 2

() &= (C)
(2) == (D)
(3)  FA (A)
(4) = (B)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24645]
2[Option ID=24646]
3[Option ID=24647]
4[Option ID=24648]
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Which of the following statement is true?

(A)
(B)

(€)
(D)

Density of states (D0OS) defines as the number of states per unit cell in erystal

The minimum amount of energy imparted to an electron make it leave the surface of
the materials is called work funetion

The classical theory of specific heat correctly predicts only at low temperature

The quantum free electron theory is based on the particle aspect of electron

Choose the correct answer from the options given below:

(1) (C)only

(2)  (A)only

(3) (D) only

(4) (B) only

(1) 1

(2) 2

(3) 3

(4) 4

ffefias w991 4 ¥ 399 @1 99 99 27

(A)  Toreed § o1 SEEASA] F1 Ocd Wi 38 Ol § 33EET il g gRn gioaniee e 2
(B) Tr=raw sl 1 AN e @ @e FA @ 98 ged I @68 # 8IS 4, HH Her wEem! 2l
(C) Tafime =0 = o wfafus g @ a8 9@ 8 aw = &6 2

(D)  &i=A Wi soigH Mg soagi & 0 AHgEal W ST 2l

= fEu o et ® | w9 I9gE I w1 99 Fifew

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Fad (C)
Fad (A)
e (D)
e (B)

1[Option ID=24649]
2[Option ID=24650]
3[Option ID=24651]
4[Option ID=24652]
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Maxwell's equation :
(A) The discovery of displacement current allowed Maxwell to create a unified theory of
electric and magnetic theory phenomena

(B) The introduction of displacement current brilliantly completed the macroscopic theory
of electromagnetism

(C)  The importance of Maxwell's equation is not valid in differential form which consist
the expression of electromagnetic law

(D)  The brilliant success in development of theory on electromagnetism is due to
understanding of the possibility of existence of electromagnetic waves following the
Maxwell equation

(E) The induced currents create a magnetic flux which prevents the variation of the
magnetic field generating the induced e.m.f.

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D), (E) only

(2) (A). (B), (C), (E) only

(3) (A), (B), (D), (E) only

(1) (A), (C), (D), (E) only

(1) 1
(2) 2
(3) 3
(4) 4

(&)  TaEmmE smEw 1w SEEe F 9EE N g g TiEe F TG mgr # e
e, srmfa feam

(B) T s1Ew % WEE A dgh -G SRR g A 9k ° P |

(C)  HoeEs W 1 HEed ST THEE =Y 4 949 75 2 =91 06 d49a gk e o g 2

(D) fTr-ge=mca fagma 1 gsaq, faaa-gedm % aftaea 1 909 i 99237 & w52
(E)  Ufa o1& v gafE AT9aE a9mar 2 S geehiE & ° 300 UiE f3.9.81. % smena i T 2|
= Tou U faedl 9 5 HE 39 F 999 HI

(1) === (A). (B). (C). (D). (E)

(2)  F4EH (A). (B). (C). (B)
(3) === (A). (B). (D). (E)
(4)  =ae (A). (C). (D). (E)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24653]
2[Option ID=24654]




3[Option ID=24655]
4[Option ID=24656]
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Which are the most appropriate statements among given below:
(A) Iron nanoparticles retain iron's magnetic properties

(B) Iron nanoparticles gives better MRI magnetic
(C) Iron loses its magnetic properties at nanodimensions
(D) Iron core nanoparticles helped in targeted delivery

(E) A key property of iron nanoparticle is its high electrical mobility

Choose the most appropriate answer from the options given below:

(1) (A), (D) and (E) only
(2) (B), (C) and (D) only
(3) (A), (B) and (D) only
(4) (C), (D) and (E) only

(1) 1

(2) 2

(3) 3

(4) 4

Fr=tfetiea @ | % =i gron =9 )

(B) ¥ FH =5 WA, (MRI) o= 5a 2
(C) = % Taehr I SHISTEEIE WA 7 A 2

(D)  wte B O HA ifesd SOl § HarEd Bt A

(W)  ©E I 1 UF g 97 SEE 3 49d T 2|

1= fou o faedi @ 9 ged 59T I 1 999 Hiaw
(1) & (A), (D) 3117 (E)
(2) A« (B). (C) =R (D)

(3)  @ae (A). (B) 3 (D)
(4)  Fad (C). (D) T (E)
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=24657]
2[Option ID=24658]




3[Option ID=24659]
4[Option ID=24660]
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Quantum size effects

(A) Result 1n spatial confinement of electrons and holes

(B) Result in continuum bend formation

(C) Occurs when size of a nano particle 1s larger than de Broglie wavelength

(D) Are similar to a particle in a box

(E) Results in varation in density of electronic energy levels as a function of size

Choose the most appropriate answer from the options given below:

(1) (A). (B) and (C) only
(2) (B). (C) and (E) only
(3) (A) and (E) only

(4) (A). (D) and (E) only

(1) 1
(2) 2
(3) 3
(4) 4

FETIH WTET F T9E -

(A)  h THOTHEEY 92 AR A TIEE TR Bl 2

(B) % gty graed 9y HEi EE 2

(C)  =fed =11 7 58 Uk A-1eHhel =1 AR SEl |l qileed 3 911 70 7

(D)  =E T UF O F SFTEE FEHE S 2

(E) o=y seiweii® S & 94, AN % e % =9 § w26 2

Fi= U T faedt B § wed 399 3T R 999 i

(1) = (A). (B) #E (C)
(2)  #Fa= (B). (C) #1 (E)
(3)  *ad (A) 31 (E)

(4)  FaEd (A). (D) =1 (E)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24661]




2[Option ID=24662]
3[Option ID=24663]
4[Option ID=24664]

Sl. No.92
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According to Drude Lorentz model theory

(A)
(B)
(C)

(D)
(E)

Enerev of electron is directly proportional to n° where n=1. 2. 3...
Energy of electron us directly proportional to n. where n=1, 2, 3...
Energy of electron is directly proportional to n® where n=1. 2, 3...

Energy of electron 1s arbitrary

Energy of electron 1s fixed

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

(D) only
(B) only
(A) only
(C) only

.E;r_s_ \;.l‘r ,_,u .-;dﬁ I H'- Eﬁ _ﬂw 3

(A)
(B)
(C)
(D)
(%)

SeiF2A il FAl n F FTHFAEIE B 2, FA on=1, 2. 3...

SeiFZiA I Tl n F FTHAEIE! =6l 2, @ on=1, 2 3...

s i FoAl n® F ATFAHIG Bl B, FA n=1 2, 3...

SEFEH i FA F AGeDH Bl =

% = i~ r T S
e i Sl A Bl 2

Fi= fou T fawed B 9 weH 39 3T 1 =99 A

(1)

(1) 1
(2) 2
(3) 3
(4) 4

Fa (D)
#ad (B)
Hae (A)

e (C)




1[Option ID=24665]
2[Option ID=24666]
3[Option ID=24667]
4[Option ID=24668]
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Factors responsible for the change in properties of nanomaterials are

(A) Reactivity of constituent elements
(B) Atomic mass

(C) Atomic size

i Quantum confinement

(E) Surface to volume ratio

Choose the most appropriate answer from the options given below:

(1) (A), (B) only
(2) (D), (E) only
3) (A, (C) only
(4) (D), (A)only

(1) 1
(2) 2
(3) 3
(4) 4

ST F O § SeeE o g e I E -
(A)  TEeF dodl F GRAEiEd
(B)  THI AEAA

(C)  TH] HTHF
(D) &R g

(W) UB & vd SEEd T SETE

e o T Tahedl @ HeH I9g I 1 WA A

(1)  F= (A). (B)
(2) = (D). (E)
(3) e (A). (O)
(4) T (D). (A)

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=24669]
2[Option ID=24670]
3[Option ID=24671]
4[Option ID=24672]
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Match List I with List 11 ;

(A)
(B)
(C)
(D)

List I
Carbon Nanotubes
Graphene Nanosheets
Bulk material

Quantum Dots

List IT
(I}  Degree of Freedom = 1, Degree of confinement = 2
(II) Degree of Freedom = 3, Degree of confinement = 0
(III) Degree of Freedom = 2, Degree of confinement = 1

(IV) Degree of Freedom = 0, Degree of confinement = 3

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A)-(I11), (B)-(D), (C)-(1I), (D)-(IV)
(A)-(D), (B)-(I1D), (C)-(IV), (D)-(1T)
(A)-(D, (B)-(IID), (C)-(1I), (D)-(IV)
(A)-(LT), (B)-(II), (C)-(1), (D)-(IV)

-1 % @ gft-11 1 Tvem $ife

(A)
(B)
(C)
(D)

i1

A AT
i Seriea
T 9
FHCH SIH

-1
I wa= =iz = 1, afwy F=if = 2
(I) w@a= =ifz = 3, afwy F=ifE = 0
(IIT) w=e= =ifz = 2, afwyg w9l = 1
(IV) w@ma= &ifz = 0, afwy #ifz = 3

dr= fou mu fasredi # & TE I %1 =9 it

(1) 1
(2) 2
(3) 3
(4) 4

(A)-(IID), (B)-(D), (C)-(II), (D)-(IV)
(A)-(D, (B)-(I1D), (C)-(IV), (I)-(IL)
(A)-(D, (B)-(I11), (C)-(II), (D)-(IV)
(A)-(IID), (B)-(1I), (C)-(D), (D)-(IV)

1[Option ID=24673]




2[Option ID=24674]
3[Option ID=24675]
4[Option ID=24676]

Sl. No.95
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Match List I with List 11 :

(A)
(B)
(C)
(D)

List I

¥-Ray Diffraction

Scanning Electron Microscope
X-Ray photoelectron spectroscopy
UV-VIS Absorption spectroscopy

(D
ey
(III)
(Ivy

List IT

Bandgap

Crystal structure
Morphology

Elemental Identification

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

(A)-(IV), (B)-(I), (C)-(1I), (D)-(1IL)
(A)-(ID), (B)-(I1I), (C)-(IV), (D)-(D)
(A)-(ID), (B)-(IV), (C)-(I), (D)-(11L)
(A)-(IV), (B)-(ID), (C)«(D), (D)-(I11)

o1-1 % =1 ge=i-I1 1 T5erm =it

EEIg!
(A) UFE-T To=A
(B) FHaATEA seiez gama
(C) wFE-1 TS gEaaai
(D) UV-vis (F-F@) sraememr gameei
49 fou U famedl 5 © HE 3T H 95 i
(1) (A}-(IV). (B)-(I). (C)-(IL). (D)-(I1I)
(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(3) (A)-(ID). (B)-(IV). (C)-(I). (D)-(I1T)
(4) (A)-(IV). (B)-(IL). (C)-(I), (D)-(I1I1)
(1) 1
() 2
(3) 3
(4) 4

1[Option ID=24677]
2[Option ID=24678]

TH1-11
(I) == 370
(I) Tam=ee T=m

(IIT) ZTr=rTieehi [ s77aia faam
[Iil"ﬁj T I'?-a':-i J=4T4




3[Option ID=24679]
4[Option ID=24680]
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Match List I with List I :

List 1 List II
{(A) Hexagonal (0 4
(B) Orthorhombic (I 2
(C) Cubic (It 1
(DY Monoclinic (IV)y 3

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IL), (C)-(IV), (D)-(I1T)
(2) (A)-(LIT), (B)-(D), (C)-(IV), (D)-(1I)
(3) (A)-(ID), (B)-(I), (C)-(11I), (D)-(1IV)
(4) (A)-(ID), (B)-(IV), (C)-(D), (D)-(11L)

(1) 1
(2) 2
(3) 3
4) 4
Teft-1 % =19 Fq=H-11 =1 foem fifsw
T Bl
Torezer owfe =1 AW sfam afea i g
(A) weEmiE {4
(B) fawwemna ai 2
(C)y =4 (I 1
(D)  weAaTE (IV) 3
ﬂéﬁqwﬁﬂ”ﬁﬁu@mwaﬁﬁu:

(1) (A)-(I), (B)-(IT), (C)-(IV), (D)~(11T)
(2) (A)-(IIT), (B)-(D), (C)-(IV), (D)-(II)
(3) (A)-(ID), (B)-(D), (C)-(11I), (D)-(IV)
(4) (A)-(ID), (B)-(IV), (C)-(D), (D)-(11L)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=24681]
2[Option ID=24682]




3[Option ID=24683]
4[Option ID=24684]
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Match List I with List IT ;

List I List II
(A) Strongly electronegative L S
(B) Covalent bonding Iy Ar
(C) Strongly electropositive (IITy C1

(D) Nobel Atomic configuration (IV) Na

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I1D), (C)-(ID), (D)-(IV)
(2) (A)-(LID), (B)-(D), (C)-(IV). (D)-(ID)
(3) (A)-(IV), (B)-(I), (C)-(II), (D)-(I1L)
(4) (A)-(ID), (B)-(IV), (C)-(I), (D)-(11L)

(1)
(2)
(3)
(4)

A W N =

=11 % = G-I = foe i

T=i-1 T=I-11
(A) @1fd = T @M Si
(B) TEEATEF A I Ar
(C) #1fa o= Tagdm (IIT) C1
(D) = T A= (IV) Na
ﬁﬁﬁqmﬁmﬂﬂﬂ?ﬁW?[Wﬁﬂ%ﬂ

(1) (A)-(I). (B)-(III). (C)~(IL), (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV). (D)-(II)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(I1II)
(4) (A)-(IT). (B)-(IV). (C)-(D). (D)-(1IT)
(1)
(2)
(3)
(4)

A W N =

1[Option ID=24685]
2[Option ID=24686]
3[Option ID=24687]
4[Option ID=24688]
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Match List I with List IT ;

(A)
(B)
(€
(D)

List I

Recombinant DNA technology
Cellulose

Polymerase chain Reaction

Restriction enzyme digestion

List IT
(I) Plant cells
(I) Fragmentation of DNA
(III) Agarose gel electrophoresis
(IV) Multiple copy of gene

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A)-(IV), (B)-(I1I), (C)-(ID, (D)-(T)
(A)-(ID), (B)-(D), (C)-(IV), (D)~(11T)
(A)-(D), (B)-(1I), (C)-(11D), (D)-(IV)
(A)-(LIT), (B)-(ID), (C)-(I), (D)-(IV)

T=ft-1 = =g g=t-11 =1 e fifaw

(A)
(B)
(€)
(D)

Jr= fau o fomedi | @ w8 I #1999 Fifau .

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

-1

AT E1.uA.0, e
Heper

wifers <9 sl
yftefia w=amgm 9r=[

(A)-(IV), (B)-(IID), (C)-(1L), (D)-(D)
(A)-(ID), (B)-(I), (C)-(IV), (D)-(11L)
(A)-(I), (B)-(1I), (C)-(I1D), (D)-(IV)
(A)-(11D), (B)-(II). (C)-(D). (D)-(IV)

1[Option ID=24689]
2[Option ID=24690]
3[Option ID=24691]
4[Option ID=24692]

i 11
() rge HifE
(I) Stwan w1 =
(IIT) WHE Fe e Fo1 delo
(IV) Sfi i sgafa

Sl. No.99
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Match List I with Last IT :

ListI List IT
(A) Classical theory of heat capacity @D Cy=127* /5N k(T /6,
(B) Einstein's theorv of heat capacity (D) Cr=3Nzk;
(C) Debyve theory of heat capacity (III) Cy =3N,kjs {f:rw / kBT]E

lexpl{fiw / kET}.-’{eXp{?‘rw Ik,T) }:J
(D) Heat capacity below Debyve temperature (IV) Cy=¥T+ ,.’.?TB

Choose the correct answer from the options given below :

(1) (A)-(T). (B)-(II). (C)-(III). (D)-(IV)
(2) (A)-(IT), (B)-(IIL), (C)-(IV). (D))
(3) {(A)-(IIT). (B)-(I). (C)-(II). (D)-(IV)
(4) (A)-(II). (B)-(III). (C)-(I). (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

-1 % =g =117 e i

=1 T=1-11
(A) T #1 FesidtEa faggia @ Cp,=127* /5N, k(T /6, )
(B) FEHTGTIAT 1 SATH2A 1 HEEE (I) Cy =3N,ks
(C)  wemanfeat =1 feard fguid () Cy =3Noky(w! kT
lexp{jﬁw [k ,T)/ {expf_ faw ! kT }C I
(D) FemTeTar =9 A o = (V) & —¥r g
= fou 7o fawedi § § wE I #1999 FIAw

(1) (A)-(I). (B)-(IL). (C)-(I1I). (D)-(IV)
(2) (A)-(IT). (B)-(IID). (C)-(IV). (D)-(I)
(3) (A)-(I1I), (B)-(I). (C)~(II). (D)-(IV)
(4) (A)-(IT). (B)-(I1II). (C)-(I). (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24693]




2[Option ID=24694]
3[Option ID=24695]
4[Option ID=24696]

Sl. No.100
QBID:1059075

Match List I with Tast IT:

List I List IT
(A) Intrinsic semiconductor I o=enlu + ,up}
(B) n-type semiconductor (II)  Dependson N_and N,
(C) p-type semiconductor (III) oc=eN u
(D) Mixed semiconductor (IV) o=eN u

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IV). (C)-(III). (D)-(IT)
(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(3) (A)-(I1I), (B)-(I). (C)-(ID). (ID)-(IV)
(4) (A)-(IT)., (B)-(III). (C)-(D). (D)-(IV)
(1)
(2)
(3)
(4)

TA1-1 % = g1 1 foerm Fiee

A W N =

-1 H-IT
(A) TR FIETF I o=enlu + ;IF)
(B) n-—uEdl SHEEF I) N, st N, 9 g = 2
(C) p—vEd A= (III) o=eN pu,
(D) Tty sd=me=s (IV) o=eN,u
= 5 T TweT 6§ 98 I #1999 Fie

(1) (A)-(D. (B)-(IV). (C)-(I1I). (D)-(IT)
(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(3) (A)-(I1ID), (B)-(I). (C)-(IL). (D)-(TV)
(1) (A)-(IT). (B)-(IIL), (C)-(I). (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=24697]
2[Option ID=24698]
3[Option ID=24699]
4[Option ID=24700]




